p(r/'R)

Ratio to CDF

10

107t

0.5

1960 GeV ppbar

Rivet 3.1.10, = 2.6M events

:| I | T I T I I T I |:
B Differential jet shapep (229 <p_< 250) _
| m CDF B
-8~ Pythia 6.428 391
| --<-- Pythia 6.428 393 ]
— --e- Pythia 6.428 394 =
C - - Pythia 6.428 395 .
I z\ _
L \, -
\,
B \, _|
\,
N,
N,
— l‘*.f —
: \.iii.‘ja}*: :
B ~.'§_;!fi§~\7-i N ]
B I;igi*if‘i!\\ .
- AR

| =8 _|
— | —
N | | , | | | , | | | , | |]
:l T T T T | T T T T |:
: g__ ' ;;}%%f:—?— —-—:‘% :

— <= RETI oy % i

55

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


